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SEQUENCES AND SERIES: REVIEW PACKET!

Arithmetic/Geometric Sequences, Summation Notation, Recursive Sequences, Partial/Infinite Sums, Binomial Expansions
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Part 1: Find the first four terms as well as the tenth term of the sequence. Then find the 4t partial sum.
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Part 2: A sequence is defined recursively. Find the first 3 terms and the 10% term of sequence (use your calculator to find the 10t
term).
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Write the sum WITHOUT sigma notation. Do Not Evaluate. (you may use ...)
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Part 4: Tell whether the sequence is arithmetic, geometric or neither. Explain.
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Part 5: Write the next term of the sequence, and then write a rule for the nth term.
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Part 6: Find the first four partial sums and the nth partial sum of the sequence an.
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Part 7: Determine if the series converges. If it does, find the sum of the series.
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15.) Find the sum of the geemetric series (doF IS HSeyOur—CTHicTittor)
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Part 8: Word Problems

16.) Stephen DeLeo drops a lacrosse ball from Friends Hall from a height of 100 feet. The elasticity of the ball
is such that it always bounces up 2/5 the distance it has fallen. Find the total vertical distance the ball will
travel until it stops (assuming it doesn’t hit-Spesmms@eeer or Tristemn in the head).
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17.) The Bank of America Pavilion in Boston has seating where the number of seats per row increases as you ‘:"’:P -
get further away from the stage. You are bored at the Taylor Swift concert (“no way Mr. Young!”) and decide :: o
to figure out the number of seats that the pavilion has. The pavilion has 130 rows of seats with 40 seatsin 5.~ =

the first row, 42 in the second, 44 in the third and so on. Find the total number of seats in the pavilion. Show v~ e
your work. d=2
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18.) At the age of 21, Cyndi began receiving yearly payments from a trust fund. On each succeeding
birthday, she received@wice as muchlas in the preceding year. If she had received a total of $303,800 by
age 25, how much did shefreceive at age 21 (her first year of receiving trust money)?
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Part 7: Binomial Expansions: ~3\ %T—/

19.) Expand the binomial (you may use Pascal'’s triangle or the binomial theorem). (2x + y)¢
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20.) Find the term containing AS in the expansion of (A + 3B)10° \
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